

City of Hollywood

Procurement Services

Steve Stewart, Chief Procurement Officer 2600 Hollywood Boulevard, Hollywood, FL 33020

PROPOSAL DOCUMENT REPORT

IFB No. IFB-067-23-JJ

2023 Hollywood Hills Sewer Extension Project – Phase 1 Park Rd. to 35th Ave. & Wilson St. to Arthur St.

RESPONSE DEADLINE: June 21, 2023 at 3:00 pm Report Generated: Monday, July 17, 2023

Southern Underground Industries, Inc. Proposal

CONTACT INFORMATION

Company:

Southern Underground Industries, Inc.

Email:

frankd@southernundergroundindustries.com

Contact:

Frank D'Alessandro

Address:

794 S. Military Trail Deerfield Beach, FL 33442

Phone:

(954) 590-0322

Website:

www.sui.com

IFB No. IFB-067-23-JJ

2023 Hollywood Hills Sewer Extension Project – Phase 1 Park Rd. to 35th Ave. & Wilson St. to Arthur St.

Submission Date:

Jun 21, 2023 2:54 PM

ADDENDA CONFIRMATION

Addendum #1

Confirmed May 8, 2023 2:52 PM by Francesco D'Alessandro

Addendum #2

Confirmed May 8, 2023 2:52 PM by Francesco D'Alessandro

Addendum #3

Confirmed May 8, 2023 2:52 PM by Francesco D'Alessandro

Addendum #4

Confirmed May 10, 2023 11:09 AM by Francesco D'Alessandro

Addendum #5

Confirmed Jun 20, 2023 10:03 AM by Francesco D'Alessandro

Addendum #6

Confirmed Jun 20, 2023 10:03 AM by Francesco D'Alessandro

Addendum #7

Confirmed Jun 20, 2023 10:03 AM by Francesco D'Alessandro

QUESTIONNAIRE

1. VENDOR REFERENCE FORM*

Please download the below documents, complete, and upload.

• Vendor Reference Form.pdf

Vendor_Reference_Form.pdf

2. HOLD HARMLESS AND INDEMNITY CLAUSE*

I, an authorized representative, the contractor, shall indemnify, defend and hold harmless the City of Hollywood, its elected and appointed officials, employees and agents for any and all suits, actions, legal or administrative proceedings, claims, damage, liabilities, interest, attorney's fees, costs of any kind whether arising prior to the start of activities or following the completion or acceptance and in any manner directly or indirectly caused, occasioned or contributed to in whole or in part by reason of any act, error or omission, fault or negligence whether active or passive by the contractor, or anyone acting under its direction, control, or on its behalf in connection with or incident to its performance of the contract.

Confirmed

3. NON-COLLUSION STATEMENT*

I, being first duly sworn, depose that:

- A. He/she is an authorized representative of the Company, the Proposer that has submitted the attached Proposal.
- B. He/she has been fully informed regarding the preparation and contents of the attached Proposal and of all pertinent circumstances regarding such Proposal;
- C. Such Proposal is genuine and is not a collusion or sham Proposal;
- D. Neither the said Proposer nor any of its officers, partners, owners, agents, representatives, employees or parties in interest, including this affiant has in any way colluded, conspired, connived or agreed, directly or indirectly with any other Proposer, firm or person to submit a collusive or sham Proposal in connection with the contractor for which the attached Proposal has been submitted or to refrain from bidding in connection with such contract, or has in any manner, directly or indirectly, sought by agreement or collusion or communication or conference with any other Proposer, firm or person to fix the price or prices,

- profit or cost element of the Proposal price or the Proposal price of any other Proposer, or to secure an advantage against the City of Hollywood or any person interested in the proposed Contract; and
- E. The price or prices quoted in the attached Proposal are fair and proper and are not tainted by any collusion, conspiracy, connivance or unlawful agreement on the part of the Proposer or any of its agents, representatives, owners, employees, or parties in interest, including this affiant.

Confirmed

4. CERTIFICATIONS REGARDING DEBARMENT, SUSPENSION AND OTHER RESPONSIBILITY MATTERS*

The applicant certifies that it and its principals:

- A. Are not presently debarred, suspended, proposed for debarment, declared ineligible, sentenced to a denial of Federal benefits by a State or Federal court, or voluntarily excluded from covered transactions by any Federal department or agency;
- B. Have not within a three-year period preceding this application been convicted of or had a civil judgment rendered against them for commission of fraud or a criminal offense in connection with obtaining, attempting to obtain, or performing a public (Federal, State, or local) transaction or contract under a public transaction, violation of Federal or State antitrust statutes or commission of embezzlement, theft, forgery, bribery, falsification or destruction of records, making false statements, or receiving stolen property;
- C. Are not presently indicted for or otherwise criminally or civilly charged by a governmental entity (Federal, State, or local) with commission of any of the offenses enumerated in paragraph (b) of this certification; and
- D. Have not within a three-year period preceding this application had one or more public transactions (Federal, State, or local) terminated for cause or default.

Confirmed

DRUG-FREE WORKPLACE PROGRAM*

A. IDENTICAL TIE PROPOSALS - Preference shall be given to businesses with drug-free workplace programs. Whenever two or more bids which are equal with respect to price, quality, and service are received by the State or by any political subdivision for the procurement of commodities or contractual services, a bid received from a business that certifies that it has implemented

a drug-free workplace program shall be given preference in the award process. Established procedures for processing tie proposals will be followed if none of the tied vendors have a drug-free workplace program. In order to have a drug-free workplace program, a business shall:

- 1. Publish a statement notifying employees that the unlawful manufacture, distribution, dispensing, possession, or use of a controlled substance is prohibited in the workplace and specifying the actions that will be taken against employees for violations of such prohibition.
- 2. Inform employees about the dangers of drug abuse in the workplace, the business's policy of maintaining a drug-free workplace, any available drug counseling, rehabilitation, and employee assistance programs, and the penalties that may be imposed upon employees for drug abuse violations.
- 3. Give each employee engaged in providing the commodities or contractual services that are under bid a copy of the statement specified in subsection (1).
- 4. In the statement specified in subsection (1), notify the employee that, as a condition of working on the commodities or contractual services that are under bid, the employee will abide by the terms of the statement and will notify the employer of any conviction of, or plea of guilty or nolo contendere to, any violation of chapter 893 or of any controlled substance law of the United States or any state, for a violation occurring in the workplace no later than five (5) days after such conviction.
- 5. Impose a sanction on, or require the satisfactory participation in a drug abuse assistance or rehabilitation program (if such is available in the employee's community) by, any employee who is so convicted.
- 6. Make a good faith effort to continue to maintain a drug-free workplace through implementation of these requirements.

As the person authorized to sign the statement, I certify that this firm complies fully with the above requirements.

Confirmed

6. SOLICITATION, GIVING, AND ACCEPTANCE OF GIFTS POLICY *

Florida Statute 112.313 prohibits the solicitation or acceptance of Gifts. "No Public officer, employee of an agency, local government attorney, or candidate for nomination or election shall solicit or accept anything of value to the recipient, including a gift, loan, reward, promise of future employment, favor, or service, based upon any understanding that the vote, official action, or judgment of

the public officer, employee, local government attorney, or candidate would be influenced thereby." The term "public officer" includes "any person elected or appointed to hold office in any agency, including any person serving on an advisory body."

The City of Hollywood/Hollywood CRA policy prohibits all public officers, elected or appointed, all employees, and their families from accepting any gifts of any value, either directly or indirectly, from any contractor, vendor, consultant, or business with whom the City/CRA does business.

The State of Florida definition of "gifts" includes the following:

- Real property or its use,
- Tangible or intangible personal property, or its use,
- A preferential rate or terms on a debt, loan, goods, or services,
- Forgiveness of indebtedness,
- Transportation, lodging, or parking,
- Food or beverage,
- Membership dues,
- Entrance fees, admission fees, or tickets to events, performances, or facilities,
- Plants, flowers or floral arrangements
- Services provided by persons pursuant to a professional license or certificate.
- Other personal services for which a fee is normally charged by the person providing the services.
- Any other similar service or thing having an attributable value not already provided for in this section.

Any contractor, vendor, consultant, or business found to have given a gift to a public officer or employee, or his/her family, will be subject to dismissal or revocation of contract.

As the person authorized to sign the statement, I certify that this firm will comply fully with this policy.

Confirmed

7. Certificate of Insurance*

See requirements in the #SPECIAL TERM AND CONDITIONS section.

COI.pdf

8. PROOF OF SUNBIZ REGISTRATION*

Enter company FEIN to be verified in Sunbiz

26-2521235

Click to Verify Value will be copied to clipboard

9. ACKNOWLEDGMENT AND SIGNATURE PAGE

IF CORPORATION - DATE INCORPORATED/ORGANIZED:* 04/29/2008

STATE INCORPORATED/ORGANIZED:* Florida

REMITTANCE ADDRESS*

794 S Military Trail, Deerfield Beach, FL, 33442

BIDDER/PROPOSER'S AUTHORIZED REPRESENTATIVE'S TYPED FULL NAME*
Belseri Comerford

IT IS HEREBY CERTIFIED AND AFFIRMED THAT THE BIDDER/PROPOSER CERTIFIES ACCEPTANCE OF THE TERMS, CONDITIONS, SPECIFICATIONS, ATTACHMENTS AND ANY ADDENDA. THE BIDDER/PROPOSER SHALL ACCEPT ANY AWARDS MADE AS A RESULT OF

THIS SOLICITATION. BIDDER/PROPOSER FURTHER AGREES THAT PRICES QUOTED WILL REMAIN FIXED FOR THE PERIOD OF TIME STATED IN THE SOLICITATION.*

Confirmed

THE EXECUTION OF THIS FORM CONSTITUTES THE UNEQUIVOCAL OFFER OF BIDDER/PROPOSER TO BE BOUND BY THE TERMS OF ITS PROPOSAL. FAILURE TO SIGN THIS SOLICITATION WHERE INDICATED BY AN AUTHORIZED REPRESENTATIVE SHALL RENDER THE BID/PROPOSAL NON-RESPONSIVE. THE CITY MAY, HOWEVER, IN ITS SOLE DISCRETION, ACCEPT ANY BID/PROPOSAL THAT INCLUDES AN EXECUTED DOCUMENT WHICH UNEQUIVOCALLY BINDS THE BIDDER/PROPOSER TO THE TERMS OF ITS OFFER.*

Confirmed

PROPOSAL FORM*

Please download the below documents, complete, and upload.

• <u>Proposal Form.docx</u>

Bid Bond.docx

10. SWORN STATEMENT PURSUANT TO SECTION 287.133 (3) (a) FLORIDA STATUTES ON PUBLIC ENTITY CRIMES

THIS FORM STATEMENT IS SUBMITTED TO THE CITY OF HOLLYWOOD BY:*

(Print individual's name and title) (Print name of entity submitting sworn statement)

Belseri Comerford President Southern Underground Industries, Inc

SWORN STATEMENT CONTINUATION:*

Enter business address:

794 S Military Trail, Deerfield Beach, FL, 33442

SWORN STATEMENT CONTINUATION:*

Enter Federal Employer Identification Number (FEIN) is:

PROPOSAL DOCUMENT REPORT

Invitation For Bid - 2023 Hollywood Hills Sewer Extension Project – Phase 1 Park Rd. to 35th Ave. & Wilson St. to Arthur St.

If the entity has no FEIN, include the Social Security Number of the individual signing this sworn statement.

26-2521235

SWORN STATEMENT CONTINUATION:*

I understand that "convicted" or "conviction" as defined in Paragraph 287.133(1)(b), Florida Statutes, means a finding of guilt or a conviction of a public entity crime, with or without an adjudication of guilt, in an federal or state trial court of record relating to charges brought by indictment or information after July 1, 1989, as a result of a jury verdict, nonjury trial, or entry of a plea of guilty or nolo contendere.

N/A

SWORN STATEMENT CONTINUATION:*

I understand that "Affiliate," as defined in paragraph 287.133(1)(a), Florida Statutes, means:

- 1. A predecessor or successor of a person convicted of a public entity crime, or
- 2. An entity under the control of any natural person who is active in the management of the entity and who has been convicted of a public entity crime. The term "affiliate" includes those officers, directors, executives, partners, shareholders, employees, members, and agents who are active in the management of an affiliate. The ownership by one person of shares constituting a controlling interest in another person, or a pooling of equipment or income among persons when not for fair market value under an arm's length agreement, shall be a prima facie case that one person controls another person. A person who knowingly enters into a joint venture with a person who has been convicted of a public entity crime in Florida

during the preceding 36 months shall be considered an affiliate.

Confirmed

SWORN STATEMENT CONTINUATION:*

I understand that "person," as defined in Paragraph 287.133(1)(e), Florida Statues, means any natural person or any entity organized under the laws of any state or of the United States with the legal power to enter into a binding contract and which bids or applies to bid on contracts let by a public entity, or which otherwise transacts or applies to transact business with a public entity.

The term "person" includes those officers, executives, partners, shareholders, employees, members, and agents who are active in management of an entity

Confirmed

SWORN STATEMENT CONTINUATION:*

Based on information and belief, the statement which I have marked below is true in relation to the entity submitting this sworn statement. (Please indicate which statement applies.)

Division of Administrative Hearings, determined that it was not in the public interest to place the entity submitting this sworn statement on the convicted vendor list. (attach a copy of the Final Order).

Neither the entity submitting sworn statement, nor any of its officers, director, executives, partners, shareholders, employees, members, or agents who are active in the management of the entity, nor any affiliate of the entity has been charged with and convicted of a public entity crime subsequent to July 1, 1989.

SWORN STATEMENT CONFIRMATION*

I UNDERSTAND THAT THE SUBMISSION OF THIS FORM TO THE CONTRACTING OFFICER

FOR THE PUBLIC ENTITY IDENTIFIED IN PARAGRAPH 1 (ONE) ABOVE IS FOR THAT PUBLIC

ENTITY ONLY AND THAT THIS FORM IS VALID THROUGH DECEMBER 31 OF THE CALENDAR

YEAR IN WHICH IT IS FILED. I ALSO UNDERSTAND THAT I AM REQUIRED TO INFORM THAT PUBLIC ENTITY PRIOR TO ENTERING INTO A CONTRACT IN EXCESS OF THE THRESHOLD AMOUNT PROVIDED IN SECTION 287.017 FLORIDA STATUTES FOR A CATEGORY TWO OF ANY CHANGE IN THE INFORMATION CONTAINED IN THIS FORM.

Confirmed

PRICE TABLES

BASE BID

Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total	Custom1				
SEWER EXTENSION										
1	FURNISH & INSTALL 08" SDR 26 PVC SANITARY SEWER MAINS (00-06 FT)	1,600	LF	\$108.00	\$172,800.00					
2	FURNISH & INSTALL 08" SDR 26 PVC SANITARY SEWER MAINS (06-08 FT)	1,090	LF	\$120.00	\$130,800.00					
3	FURNISH & INSTALL 08" SDR 26 PVC SANITARY SEWER MAINS (08-10 FT)	3,150	LF	\$179.00	\$563,850.00					
4	FURNISH & INSTALL 08" SDR 26 PVC SANITARY SEWER MAINS (10-12 FT)	1,900	LF	\$217.00	\$412,300.00					
5	FURNISH & INSTALL 08" SDR 26 PVC SANITARY SEWER MAINS (12-14 FT)	1,050	LF	\$280.00	\$294,000.00					

Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total	Custom1
6	FURNISH & INSTALL 08" SDR 26 PVC SANITARY SEWER MAINS (14-16 FT)	430	LF	\$449.00	\$193,070.00	
7	FURNISH & INSTALL 12" SDR 26 PVC SANITARY SEWER MAINS (12-14 FT)	340	LF	\$323.00	\$109,820.00	
8	FURNISH & INSTALL 12" SDR 26 PVC SANITARY SEWER MAINS (14-16 FT)	260	LF	\$492.00	\$127,920.00	
9	FURNISH & INSTALL 24" SDR 26 PVC SANITARY SEWER MAINS (10-12 FT)	220	LF	\$512.00	\$112,640.00	
10	FURNISH & INSTALL 24" SDR 26 PVC SANITARY SEWER MAINS (12-14 FT)	190	LF	\$712.00	\$135,280.00	
11	FURNISH & INSTALL 24" SDR 26 PVC SANITARY SEWER MAINS (14-16 FT)	650	LF	\$808.00	\$525,200.00	
12	FURNISH & INSTALL 24" SDR 26 PVC SANITARY SEWER MAINS (16-18 FT)	1,150	LF	\$1,050.00	\$1,207,500.00	
13	FURNISH & INSTALL 04-FT DIAMETER MH (00-06 FT)	7	EA	\$8,877.00	\$62,139.00	
14	FURNISH & INSTALL 04-FT DIAMETER MH (06-08 FT)	4	EA	\$11,296.00	\$45,184.00	
15	FURNISH & INSTALL 04-FT DIAMETER MH (08-10 FT)	8	EA	\$14,087.00	\$112,696.00	
16	FURNISH & INSTALL 04-FT DIAMETER MH (10-12 FT)	9	EA	\$16,140.00	\$145,260.00	

Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total	Custom1
17	FURNISH & INSTALL 04-FT DIAMETER MH (12-14 FT)	8	EA	\$24,374.00	\$194,992.00	
18	FURNISH & INSTALL 04-FT DIAMETER MH (14-16 FT)	2	EA	\$50,788.00	\$101,576.00	
19	FURNISH & INSTALL 04-FT DIAMETER MH (16-18 FT)	2	EA	\$61,293.00	\$122,586.00	
20	FURNISH & INSTALL 05-FT DIAMETER MH (00-06 FT)	0	EA	\$0.00		
21	FURNISH & INSTALL 05-FT DIAMETER MH (12-14 FT)	2	EA	\$23,346.00	\$46,692.00	
22	FURNISH & INSTALL 05-FT DIAMETER MH (16-18 FT)	3	EA	\$61,642.00	\$184,926.00	
23	FURNISH & INSTALL 05-FT DIAMETER MH (18-20 FT)	0	EA	\$0.00		
24	FURNISH & INSTALL 06" SDR 26 PVC LATERALS W/ CLEANOUTS (24 LF)	135	EA	\$4,736.00	\$639,360.00	
25	CLEAN AND CCTV EXISTING SANITARY SEWER MAINS	140	LF	\$44.00	\$6,160.00	
26	SEAL AND COAT EXISTING MH	1	EA	\$4,425.00	\$4,425.00	
27	FURNISH & INSTALL FORCE MAIN CONNECTION	0	LS	\$0.00		
28	FURNISH & INSTALL 10" DIP VALVE	0	EA	\$0.00		

PROPOSAL DOCUMENT REPORT

Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total	Custom1
29	DECOMMISSION 10" FORCEMAIN	1,880	LF	\$23.00	\$43,240.00	
VATERMAIN RE	LOCATION PER EOR DIRECTIVE DUE TO POSSIBL	E FIELD CONDITIO	DNS			
30	FURNISH & INSTALL 04" DIP CLASS 52 WATER MAIN (RESTRAINED)	400	LF	\$119.00	\$47,600.00	
31	FURNISH & INSTALL 06" DIP CLASS 52 WATER MAIN (RESTRAINED)	400	LF	\$112.00	\$44,800.00	
32	FURNISH & INSTALL 08" DIP CLASS 52 WATER MAIN (RESTRAINED)	400	LF	\$150.00	\$60,000.00	
33	FURNISH & INSTALL 12" DIP CLASS 52 WATER MAIN (RESTRAINED)	400	LF	\$234.00	\$93,600.00	
34	FURNISH & INSTALL 24" DIP CLASS 52 WATER MAIN (RESTRAINED)	400	LF	\$950.00	\$380,000.00	
ROUND COVER	R RESTORATION					
35	FURNISH & INSTALL 12" TYPE "B" STABILIZED SUBGRADE (UTILITY TRENCH RESTORATION)	9,000	SY	\$7.00	\$63,000.00	
36	FURNISH & INSTALL 12" LIMEROCK BASE (UTILITY TRENCH RESTORATION)	9,000	SY	\$52.00	\$468,000.00	
37	FURNISH & INSTALL 08" LIMEROCK BASE (SIDEWALK AND CONCRETE/ASPHALT DRIVEWAY ONLY)	14,000	SY	\$27.00	\$378,000.00	

Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total	Custom1
38	FURNISH & INSTALL 01" PAVEMENT, PERMANENT, TYPE S-III (STRUCTURAL COURSE)	14,000	SY	\$21.00	\$294,000.00	
39	FURNISH & INSTALL 01" PAVEMENT, TEMPORARY,TYPE S-III RECYCLE, FLUSH WITH EXISTING PAVEMENT	14,000	SY	\$19.00	\$266,000.00	
40	MILLING AND RESUFACING 1" OF PAVEMENT, PERMANENT, TYPE S-III (WEARING COURSE)	32,450	SY	\$25.00	\$811,250.00	
41	FURNISH & INSTALL 04" CONCRETE SIDEWALK	750	SY	\$74.00	\$55,500.00	
42	FURNISH & INSTALL 06" CONCRETE SIDEWALK	750	SY	\$94.00	\$70,500.00	
43	FURNISH & INSTALL ASPHALT DRIVEWAY (INCLUDES APRON)	750	SY	\$106.00	\$79,500.00	
44	FURNISH & INSTALL CONCRETE DRIVEWAY (INCLUDES APRON) (INCLUDES 12" SUBGRADE)	250	SY	\$110.00	\$27,500.00	
45	FURNISH & INSTALL PAVER DRIVEWAY (INCLUDES APRON) (INCLUDES 12 SUBGRADE AND 02" SAND BASE)	150	SY	\$44.00	\$6,600.00	
46	FURNISH & INSTALL SOD (INCLUDES 06" TOP SOIL)	3,600	SY	\$9.00	\$32,400.00	

PROPOSAL DOCUMENT REPORT

Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total	Custom1
47	PAINTED, STANDARD, WHITE, SOLID, 06"	0.54	GM	\$8.00	\$4.32	
48	PAINTED, STANDARD, WHITE, SOLID, 12"	600	LF	\$36.00	\$21,600.00	
49	PAINTED, STANDARD, WHITE, SOLID, 24"	200	LF	\$6.00	\$1,200.00	
50	PAINTED, STANDARD, WHITE, SKIP, 10-30, 06"		GM	\$10,280.00	\$1,130.80	
51	PAINTED, STANDARD, WHITE, ARROW	8	EA	\$708.00	\$5,664.00	
52	PAINTED, STANDARD, YELLOW, SOLID, 06"	1.46	GM	\$443.00	\$646.78	
53	53 PAINTED, STANDARD, YELLOW, SOLID, 18"		LF	\$354.00	\$205,320.00	
54	PAINTED, STANDARD, YELLOW, 06-10 GAP EXTENSION, 06"	0.07	GM	\$416.00	\$29.12	
55	THERMOPLASTIC, STANDARD, WHITE, SOLID, 12" FOR CROSSWALKS	600	LF	\$53.00	\$31,800.00	
56	THERMOPLASTIC, STANDARD, WHITE, SOLID, 24", FOR STOP LINE AND CROSSWALK	200	LF	\$372.00	\$74,400.00	
57	THERMOPLASTIC, STANDARD, WHITE, ARROW	8	EA	\$142.00	\$1,136.00	
58	58 THERMOPLASTIC, STANDARD, YELLOW, SOLID, 18"		LF	\$4.00	\$2,320.00	
59	THERMOPLASTIC, STANDARD, YELLOW, 06- 10 GAP EXTENSION, 06"	0.07	GM	\$4,673.00	\$327.11	

Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total	Custom1
60	60 SINGLE POST SIGN, RELOCATE		EA	\$708.00	\$3,540.00	
MISCELLANEOUS	CONSTRUCTION				'	
61	61 FIELD CREW (SUPERINTENDENT, OPERATOR, PIPE LAYER X 2)		HR	\$460.00	\$18,400.00	
62	FIELD CREW (OPERATOR, LABORER X 2)	40	HR	\$398.00	\$15,920.00	
63	EQUIPMENT, EXCAVATOR, 05 CY	40	HR	\$443.00	\$17,720.00	
64	EQUIPMENT, FLAT BED TRUCK, 12'	40	HR	\$177.00	\$7,080.00	
65	EQUIPMENT, LOADER	40	HR	\$487.00	\$19,480.00	
SENERAL CONDI	TIONS AND ALLOWANCES					
66	OWNER'S CONTINGENCY	1	AL	\$650,000.00	\$650,000.00	
67	MAINTENANCE OF TRAFFIC	1	AL	\$650,000.00	\$650,000.00	
68	MOBILZATION (3% MAX TOTAL BID PRICE)	1	AL	\$333,899.00	\$333,899.00	
69	DEMOBILIZATION (2% MAX TOTAL BID PRICE)	1	AL	\$222,599.00	\$222,599.00	
70	PERMIT, LICENSES, FEES AND MATERIAL TESTING ALLOWANCE	1	AL	\$200,000.00	\$200,000.00	
71	PUBLIC INVOLVEMENT ALLOWANCE (24 MONTHS MAX)	24	MONTHLY	\$7,080.00	\$169,920.00	
72	AS-BUILT AND RECORD DRAWINGS	1	LS	\$30,975.00	\$30,975.00	

Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total	Custom1
73	PRE-TRENCHING	1	LS	\$100,000.00	\$100,000.00	
74	CONSIDERATION FOR INDEMNIFICATION	1	LS	\$10.00	\$10.00	
75	FURNISH & INSTALL 04-FT DIAMETER MH (18-20 FT)	3	EA	\$83,804.00	\$251,412.00	
76	FURNISH & INSTALL 04-FT DIAMETER MH (20-22 FT)	0	EA	\$0.00		
77	ARTHUR STREET 36-INCH REUSE WATER MAIN PROTECTION	1	AL	\$175,777.00	\$175,777.00	
78	FURNISH & INSTALL 12" DIP FORCEMAIN	380	LF	\$257.00	\$97,660.00	
79	FURNISH & INSTALL 6" DIP FORCEMAIN	60	LF	\$278.00	\$16,680.00	
80	DECOMMISSION 4" FORCEMAIN	20	LF	\$55.00	\$1,100.00	
TOTAL	l				\$12,200,416.13	

VENDOR REFERENCE FORM

City of Hollywood Solici	tation #: IFE	IFB-067-23-JJ							
Reference for:	Sou	thern Unde	rground Indu	stries, Inc.					
							_		
Organization/Firm Nam	e providing			_					
reference:		Tc	hopekaliga V	Vater Authority	•				
Organization/Firm Cont				Ti	tle: Pro	oject Man	ager		
Name:		vin Matos		_		07.044.50			
Email:		atos@tohov		_ Pho	···c·	07-944-50	000		
Name of Referenced Pro	·		arcoossee Ro	_		B-20-036			
Date Services were prov	vided: Wa	ter Main Ex	tension	Pro					
				_ Amou		55,358,810			
Referenced Vendor's ro	le in	Prime Vei	ndor			Subcontra	•		
Project:						Subconsu	Itant		
Would you use the Ven	dor	Yes					specify in additional		
again?						comments			
Description of services	arovidad by Va	odor (provid	lo additional	shoot if posses	cary):				
Constructed approxima						oximately	5.400 LF of 30 in PF		
potable water main via									
existing asphalt roadwa									
	, ,								
Please rate your experie	ence N	eed	Satisfac	tory	Excelle	ent	Not Applicable		
with the Vendor		vement							
Vendor's Quality of Ser	vice								
a. Responsive					X				
b. Accuracy					X				
c. Deliverables					\square				
Vendor's Organization:									
a. Staff expertise					X				
b. Professionalism	1				X				
c. Staff turnover					X				
Timeliness/Cost Contro	l of:			1		l			
a. Project					X				
b. Deliverables					X				
	<u> </u>		<u> </u>						
Additional Comments (and also ast if					1		
Additional Comments (provide additio	nai sneet it	necessary):						
	***	*THIS SECTI	ON FOR CITY	USE ONLY***	*				
Verified via:	Email:		Verbal:		Mail:				
Varified by	Name:		•		Title:				
Verified by:	Department:				Date:				

REYNOLDSMA



CERTIFICATE OF LIABILITY INSURANCE

DATE (MM/DD/YYYY) 6/19/2023

THIS CERTIFICATE IS ISSUED AS A MATTER OF INFORMATION ONLY AND CONFERS NO RIGHTS UPON THE CERTIFICATE HOLDER. THIS CERTIFICATE DOES NOT AFFIRMATIVELY OR NEGATIVELY AMEND, EXTEND OR ALTER THE COVERAGE AFFORDED BY THE POLICIES BELOW. THIS CERTIFICATE OF INSURANCE DOES NOT CONSTITUTE A CONTRACT BETWEEN THE ISSUING INSURER(S), AUTHORIZED REPRESENTATIVE OR PRODUCER. AND THE CERTIFICATE HOLDER.

IMPORTANT: If the certificate holder is an ADDITIONAL INSURED, the policy(ies) must have ADDITIONAL INSURED provisions or be endorsed. If SUBROGATION IS WAIVED, subject to the terms and conditions of the policy, certain policies may require an endorsement. A statement on this certificate does not confer rights to the certificate holder in lieu of such endorsement(s).

PRODUCER	CONTACT Mallory Reynolds						
Insurance Office of America 1855 West State Road 434	PHONE (A/C, No, Ext): (407) 998-4134 FAX (A/C, No):						
Longwood, FL 32750	E-MAIL ADDRESS: mallory.reynolds@ioausa.com						
	INSURER(S) AFFORDING COVERAGE	NAIC#					
	INSURER A: HDI Specialty Insurance Company						
INSURED	INSURER B : First Liberty Insurance Corporation	33588					
Southern Underground Industries, Inc.	INSURER C: Indemnity National Insurance Company	18468					
794 South Military Trail	INSURER D : Employers Insurance Company of Wausau	21458					
Deerfield Beach, FL 33442	INSURER E : Westchester Surplus Lines Insurance Compan						
	INSURER F: Federal Insurance Company						

COVERAGES CERTIFICATE NUMBER: REVISION NUMBER:

THIS IS TO CERTIFY THAT THE POLICIES OF INSURANCE LISTED BELOW HAVE BEEN ISSUED TO THE INSURED NAMED ABOVE FOR THE POLICY PERIOD INDICATED. NOTWITHSTANDING ANY REQUIREMENT, TERM OR CONDITION OF ANY CONTRACT OR OTHER DOCUMENT WITH RESPECT TO WHICH THIS CERTIFICATE MAY BE ISSUED OR MAY PERTAIN, THE INSURANCE AFFORDED BY THE POLICIES DESCRIBED HEREIN IS SUBJECT TO ALL THE TERMS, EXCLUSIONS AND CONDITIONS OF SUCH POLICIES. LIMITS SHOWN MAY HAVE BEEN REDUCED BY PAID CLAIMS.

INSR		TYPE OF INSURANCE	ADDL	SUBR		POLICY EFF	POLICY EXP (MM/DD/YYYY)	LIMIT	s	
A	Х	COMMERCIAL GENERAL LIABILITY	INSD	VVVD		(MINUDD/1111)	(WIW/DD/1111)	EACH OCCURRENCE	\$	1,000,000
		CLAIMS-MADE X OCCUR	Х		CLD6033900S	6/1/2023	6/1/2024	DAMAGE TO RENTED PREMISES (Ea occurrence)	\$	100,000
								MED EXP (Any one person)	\$	
								PERSONAL & ADV INJURY	\$	1,000,000
	GEN	N'L AGGRE <u>GAT</u> E LIMIT AP <u>PLIE</u> S PER:						GENERAL AGGREGATE	\$	2,000,000
	X	POLICY PRO- LOC						PRODUCTS - COMP/OP AGG	\$	2,000,000
		OTHER:							\$	
В	AUT	OMOBILE LIABILITY						COMBINED SINGLE LIMIT (Ea accident)	\$	1,000,000
	X	ANY AUTO			AS6Z91471781023	6/1/2023	6/1/2024	BODILY INJURY (Per person)	\$	
		OWNED SCHEDULED AUTOS ONLY						BODILY INJURY (Per accident)	\$	
		HIRED NON-OWNED AUTOS ONLY						PROPERTY DAMAGE (Per accident)	\$	
									\$	
С		UMBRELLA LIAB X OCCUR						EACH OCCURRENCE	\$	1,000,000
	X	EXCESS LIAB CLAIMS-MADE			XS000127023	6/1/2023	6/1/2024	AGGREGATE	\$	1,000,000
		DED RETENTION\$							\$	
D	WOF	RKERS COMPENSATION EMPLOYERS' LIABILITY						X PER OTH-ER		
	ANY	PROPRIETOR/PARTNER/EXECUTIVE Y/N	N/A		WCCZ91471781013	6/1/2023	6/1/2024	E.L. EACH ACCIDENT	\$	1,000,000
	(Mar	ndatory in NH)	N/A					E.L. DISEASE - EA EMPLOYEE	\$	1,000,000
	If yes	s, describe under CRIPTION OF OPERATIONS below						E.L. DISEASE - POLICY LIMIT	\$	1,000,000
Е	Cor	ntractors Pollutio			G71528406005	6/1/2023	6/1/2024	Aggregate		4,000,000
F	Εqι	ipment Floater			45468572	6/1/2023	6/1/2024	Leased/Rented		400,000

DESCRIPTION OF OPERATIONS / LOCATIONS / VEHICLES (ACORD 101, Additional Remarks Schedule, may be attached if more space is required)

The city of Hollywood shall be listed as certificate holder and endorsed as an additional insured for liabilty.

CERTIFICATE HOLDER	CANCELLATION

City of Hollywood 1600 South Park Rd Hollywood, FL, 33020 SHOULD ANY OF THE ABOVE DESCRIBED POLICIES BE CANCELLED BEFORE THE EXPIRATION DATE THEREOF, NOTICE WILL BE DELIVERED IN ACCORDANCE WITH THE POLICY PROVISIONS.

AUTHORIZED REPRESENTATIVE

An Samin

PROPOSAL

TO THE MAYOR AND COMMISSIONERS CITY OF HOLLYWOOD, FLORIDA

SUBMITTED	
Dear Mayor and Commissioners:	

The undersigned, as BIDDER, hereby declares that the only person or persons interested in the Proposal as principal or principals is or are named herein and that no other person than herein mentioned has any interest in this Proposal or in the Contract to be entered into; that this Proposal is made without connection with any other person, company or parties making a Bid or Proposal; and that it is in all respects fair and in good faith without collusion or fraud.

The BIDDER further declares that he has examined the site of the Work and informed himself fully in regard to all conditions pertaining to the place where the Work is to be done; that he has examined the Drawings and Specifications for the Work and contractual documents relative thereto, including the Notice to Bidders, Instructions to Bidders, Proposal Bid Form, Form of Bid Bond, Form of Contract and Form of Performance Bond, General, Supplementary and Technical Specifications, Addenda, Drawings, and Local Preference Program, Exhibit A, and has read all of the Provisions furnished prior to the opening of bids; and that he has satisfied himself relative to the work to be performed.

The undersigned BIDDER has not divulged to, discussed or compared his bid with other bidders and has not colluded with any other BIDDER of parties to this bid whatever.

If this Proposal is accepted, the undersigned BIDDER proposes and agrees to enter into and execute the Contract with the City of Hollywood, Florida, in the form of Contract specified; of which this Proposal, Instructions to Bidders, General Specifications, Supplementary Conditions and Drawings shall be made a part for the performance of Work described therein; to furnish the necessary bond equal to one hundred (100) percent of the total Contract base bid, the said bond being in the form of a Cash Bond or Surety Bond prepared on the applicable approved bond form furnished by the CITY; to furnish all necessary materials, equipment, machinery, tools, apparatus, transportation, supervision, labor and all means necessary to construct and complete the work specified in the Proposal and Contract and called for in the Drawings and in the manner specified; to commence Work on the effective date established in the "Notice to Proceed" from the ENGINEER; and to substantially complete all Contract Work within ______ days with final completion within ______ days, and stated in the "Notice to Proceed" or pay liquidated damages for each calendar day in excess thereof, or such actual and consequential damages as may result therefrom, and to abide by the Local Preference Ordinance, Exhibit A.

The BIDDER acknowledges receipt of the any and all addenda.

And the undersigned agrees that in case of failure on his part to execute the said Contract and the Bond within ten (10) days after being presented with the prescribed Contract forms, the check or Bid Bond accompanying his bid, and the money payable thereon, shall be paid into the funds of the City of Hollywood, Florida, otherwise, the check or Bid Bond accompanying this Proposal shall be returned to the undersigned.

Attached hereto is a certified check on the	
Bank of	
or approved Bid Bond for the sum of	
conditions under the Instructions to Bidders and pr	Dollars (\$) according to the rovisions therein.
of the corporation and corporate seal; if firm shall be set forth below with the sign to sign Contracts in behalf of the partners.	ne of the corporation shall be set forth below, officers authorized to sign Contracts on behalf Bidder is a partnership, the true name of the nature(s) of the partner or partners authorized ership; and if the Bidder is an individual, his nership, the names of the general partners.
WHEN THE BIDDER IS AN INDIVIDUAL:	
	(Signature of Individual)
	Printed Name of Individual)
	(Address)

	(Name of Firm)
	(Address)
	(SEAL)
	(Signature of Individual)
**************************************	***********
	(Name of Firm) A Partnership

	(Address)
	By: (SEAL) (Partner)
Name and Address of all Partners:	
**************************************	****************
	(Correct Name of Corporation)
	By: (SEAI (Address)
	(Official Title)
	As Joint Venture (Corporate Seal)
	, and authorized by the d furnish materials and equipment required under
WHEN THE BIDDER IS A CORPORATION:	
	(Correct Name of Corporation)
	By: (SEAL)
	(Official Title)
	(Address of Corporation)

Organized under the laws of the State of, and authorized by the law to make this bid and perform all Work and furnish materials and equipment required under the Contract Documents.
CERTIFIED COPY OF RESOLUTION OF BOARD OF DIRECTORS
(Name of Corporation)
RESOLVED that (Person Authorized to Sign)
of (Title) (Name of Corporation)
be authorized to sign and submit the Bid or Proposal of this corporation for the following project:
[Project name] [Project Number] Bid No. IFB-xxxxxxx
The foregoing is a true and correct copy of the Resolution adopted by
at a meeting of its Board of (Name of Corporation)
Directors held on the day of, 20
By:
Title:
(SEAL)
The above Resolution MUST BE COMPLETED if the Bidder is a Corporation.

- END OF SECTION -